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Il Semester B.A./B.Sc./B.Com./B.B.M./B.H.M./B.C.A./B.Sc. (FAD)
Examination, April/May 2015
(Repeaters)

ARABIC LANGUAGE - II
Time : 3 Hours , ¥ Max. Marks : 100

Instructions : 1) Answer all questions.
2) Marks allotted are mentioned against each question.

I. Fillin the blanks : (10x1=10)
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ll. Translate any two of the following in English : (2x5=10)
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lll. Write a note on any two topics : ‘ (2x5=10)
ol ek (O
Ll elagh (Y
ua il dac ge (¥

V. Write the plurals of the fpllowing words any five : ) (5x2=10)
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V. Translate any two of the following paragraph in English : (2x5=10)
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VI. Explain any five of the following couplets : (5x4=20)
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VII. Identify the verb, nouns and prepositions from the following
sentences : (5x2=10)
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VIll. a) Define any one of the following : (1x10=10)
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b) Change the following sentences into presentence : (2x5=10)
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[ll. Write a note on any two topics : (2x5=10)
Gginy iy ()
oYl Gia e (8

IV. Write the plurals of the following words any five : (5x2=10)
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V. Translate any two of the following paragraph in English : (2x5='10)
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VI. Explain any five of the following couplets : (5x4=20)
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VII. Change the following sentences into presentence : (5x2=16)
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VIIl. Identify the verb, nouns and prepositions from the following
sentences : (5x2=10)
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